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HISTORY -CH-8- VILLAGES, TOWNS AND TRADE 

Q1. ‘Mathura has been an important settlement for more than 2500 years”. Elaborate the 

statement. 

Q2. “Many craftspersons and merchants now formed associations known as shrenis”. What 

do you know about shrenis? 

Q3. Why Arikamedu was an important site? 

Q4. Enlist the imports into Barygaza. 

Q5. Give reasons: 

a. Some kings tried to control large portions of the route. 

b. Roman gold coins have been found in south India. 

Q6. Assertion(A): The lives and conditions of landless labourers and slaves was abysmal in 

the village setup in the ancient times. 

 

Reason(R): Men and Women such as DASA and KARMAKARA had to earn a living 

working on the fields owned by others. 

 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true but R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true 

 

CIVICS CH-7- RURAL LIVELIHOODS 

 Q1. Give an account comparison between of the ways of earning livelihood in urban and 

rural areas. 

 Q2. Using a tabular representation, enlist the occupations practiced by the people living in    

         Kalpattu village. 

Q3. If you were living in a village , what occupation you would have opted and why? 

Q4. “Thulasi and Raman to sold their cow”. Why? 

Q5.  What are the problems faced by the fishermen during the monsoon seasons? 



Q6. Assertion(A): Rising debts among farmers is one of the major concerns of the 

agriculture sector. 

Reason(R): Overdependence on monsoon plays a pivotal part. 

 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true but R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true 

GEOGRAPHY CH-5- MAJOR DOMAINS OF THE EARTH 

Q1. Assertion(A): The surface of the Earth is a complex zone in which three main 

components of the environment meet, overlap and interact. 

Reason(R): The biosphere is the narrow zone where we find land, water and air together. 

(a) Both A and R are true and R is the correct explanation of A. 

(b) Both A and R are true but R is not the correct explanation of A. 

(c) A is true but R is false. 

(d) A is false but R is true 

Q2. Differentiate between old and young mountains. 

Q3. In spite of being called the Blue Planet, the earth experiences shortage of water. Why? 

Q4. “The biosphere is the narrow zone of contact between the land, water and air”. Elaborate 

the statement. 

Q5. Collect and write any 5 amazing facts about Asia continent. 

 

 

 


